
Portable Grill CGT18G1A
MB20100922 Cart and Side Shelves 

• Always remove plug from outlet before servicing your grill.
• Make sure your grill has fully cooled to avoid burns.
• Some components may have sharp edges. Use caution to avoid injury.
•  Remove grate, manifold, and charcoal from your grill.

CAUTION

Instruction Sheet Code: 9810210001 220218-GH

Note:  It is recommended that you rotate your grill on it’s side or upside down. 
To prevent scratching during the assembly, use cardboard or mat under your grill.

REMOVE THE GRILL SIDE HANDLES BEFORE ASSEMBLY

8

1

Remove side handles, screws 
and, mica plates. Assemble the legs.

2

Attach the brackets to the leg assembly.

4

Attach the cart latch to the grill body.

5 6

Attach the leg assembly to the grill body.

Install the left shelf.

7

Install the right shelf.

X4

X4

X2

X4

X2

X6
X4

M6x15

M6x15

M4x10

M6x15
M6x15
A

A

A

A

B

CC

X2

M8x50
H

M8
I

X2

G

X4

J
M8

X2

3

Attach wheels to the leg assembly.

    SOME PARTS MAY COME 
PRE-ASSEMBLED

X2

X2

M12

M12

D

E


